

Contact: Kim Grenier

Phone: 888-270-1153 ext. 80

Email: kgrenier@solidit.com

Web: http://www.solidit.com

Solid Relationships, Solid Solutions

Brocade DIR-TSO-2644

Quote #003498

Version 1

Prepared for:

City of Addison



Kim Grenier 888-270-1153 ext. 80

Phone: Email:

kgrenier@solidit.com

Web:

http://www.solidit.com

PREPARED FOR:
City of Addison
CHAD HANCOCK
5350 BELT LINE
Addison, TX 75240
chancock@addisontx.gov
972-450-2856

DATE	NUMBER	VER
10/27/2014	003498	1

PROJECT					
Brocade	DIR-TSO-2644				

Service Center

ITEM	DESCRIPTION	LIST	PRICE	QTY	TOTAL
IP router					
ICX6610-24-PE	24 port 1G RJ45 PoE+, plus 8 x 1G SFPP uplink port	\$7,095.00	\$3,831.30	1	\$3,831.30
	24 port 1G RJ45 PoE+, plus 8 x 1G SFPP uplinks ports (upgradeable to 10G). 4 x 40G stacking ports. Exhaust air flow. Base S/W				
ICX6610-ADV- LIC	ICX6610 Advance software license	\$5,000.00	\$2,700.00	1	\$2,700.00
RPS15-E	BROCADE SECOND POWER SUPPLY (NON PoE)	\$500.00	\$270.00	1	\$270.00
KF313-E	BROCADE SECOND POWER SUPPLY (NON PoE)- 250W				
ICX6610-FAN-E	EXHAUST DIRECTION FAN FOR THE ICX6610	\$250.00	\$135.00	1	\$135.00
DMZ					
ICX6450-24	ICX6450-24 24-PORT 1G SWTCH, 2X1G SFP+ & 2X10G SFP	\$2,695.00	\$1,455.30	1	\$1,455.30
	24-PORT 1G SWITCH, 2X1G SFP+ & 2X10G SFP+ UPLINK/STACKING PORTS (1G UPGRADEABLE TO 10G)				
Core				•	
ICX6610-48-PE	48 port 1G RJ45	\$9,995.00	\$5,397.30	1	\$5,397.30
	48 port 1G RJ45, plus 8 x 1G SFPP uplinks ports(upgradeable to 10G). 4 x 40G stacking ports.Exhaust air flow. Premium S/W				
RPS15-E	BROCADE SECOND POWER SUPPLY (NON PoE)	\$500.00	\$270.00	1	\$270.00
	BROCADE SECOND POWER SUPPLY (NON PoE)- 250W				
ICX6610-FAN-E	EXHAUST DIRECTION FAN FOR THE ICX6610	\$250.00	\$135.00	1	\$135.00
ICX6610-10G-	License to upgrade 4 ports of 1G SFPP	\$2,500.00	\$1,350.00	1	\$1,350.00
LIC-POD	LICENSE TO UPGRADE 4 PORTS OF 1G SFPP UPLINK TO 10G SPEEDS				
MITOP-	RAD - SFP-Format TDM Pseudowire Gateway, Gigabit	\$1,109.00	\$909.38	1	\$909.38
E1/T1/GE	RAD - MITOP-E1T1/GE - SFP-Format TDM Pseudowire Gateway, Gigabit				
1 SFP-CA.2	RAD SFP	\$550.00	\$451.00	1	\$451.00
	RAD SFP Small Form Factor Pluggable Transceivers				



Kim Grenier 888-270-1153 ext. 80

Phone: Email:

kgrenier@solidit.com

Web: http://www.solidit.com

Service Center

ITEM	DESCRIPTION	LIST	PRICE	QTY	TOTAL
10G-SFPP-SR	SFP+ transceiver module - 10GBase-SR	\$1,370.00	\$739.80	1	\$739.80
	BROCADE SFP+ transceiver module - 10GBase-SR - plug-in module - up to 980 ft				
vMotion					
ICX6450-24	ICX6450-24 24-PORT 1G SWTCH, 2X1G SFP+ & 2X10G SFP	\$2,695.00	\$1,455.30	1	\$1,455.30
	24-PORT 1G SWITCH, 2X1G SFP+ & 2X10G SFP+ UPLINK/STACKING PORTS (1G UPGRADEABLE TO 10G)				
Client Switches					
ICX6450-48P	ICX 6450 W/ 48-PORT 10/100/1G POE+ 740W WITH 10G S	\$5,295.00	\$2,859.30	3	\$8,577.90
	ICX 6450 W/ 48-PORT 10/100/1G POE+ 740W WITH 10G SFP				
10G-SFPP-TWX -0101	DIRECT ATTACH SFPP COPPER, 1M, 1-PACK	\$150.00	\$81.00	3	\$243.00
10G-SFPP-SR	SFP+ transceiver module - 10GBase-SR	\$1,370.00	\$739.80	1	\$739.80
	BROCADE SFP+ transceiver module - 10GBase-SR - plug-in module - up to 980 ft				
ICX6450-2X10G-	ICX 6450 2X10G CAPACITY BASED LICENSE	\$1,000.00	\$540.00	1	\$540.00
LIC-POD	ICX 6450 2X10G CAPACITY BASED LICENSE, UPGRADE 1G UPLINK/STACKING PORTS TO 10G				
	Service Center Subtota	l			\$29,200.08

Fire

ITEM	DESCRIPTION	LIST	PRICE	QTY	TOTAL		
IP router							
ICX6610-24-PE	24 port 1G RJ45 PoE+, plus 8 x 1G SFPP uplink port	\$7,095.00	\$3,831.30	1	\$3,831.30		
	24 port 1G RJ45 PoE+, plus 8 x 1G SFPP uplinks ports (upgradeable to 10G). 4 x 40G stacking ports. Exhaust air flow. Base S/W						
ICX6610-ADV- LIC	ICX6610 Advance software license	\$5,000.00	\$2,700.00	1	\$2,700.00		
RPS15-E	BROCADE SECOND POWER SUPPLY (NON PoE)	\$500.00	\$270.00	1	\$270.00		
	BROCADE SECOND POWER SUPPLY (NON PoE)- 250W						
ICX6610-FAN-E	EXHAUST DIRECTION FAN FOR THE ICX6610	\$250.00	\$135.00	1	\$135.00		
DMZ		l l					
ICX6450-24	ICX6450-24 24-PORT 1G SWTCH, 2X1G SFP+ & 2X10G SFP 24-PORT 1G SWITCH, 2X1G SFP+ & 2X10G SFP+ UPLINK/STACKING PORTS (1G UPGRADEABLE TO 10G)	\$2,695.00	\$1,455.30	1	\$1,455.30		
Core							



888-270-1153 ext. 80

Kim Grenier

Phone: Email:

Web:

kgrenier@solidit.com

http://www.solidit.com

Fire

ITEM	DESCRIPTION	LIST	PRICE	QTY	TOTAL
ICX6610-48-PE	48 port 1G RJ45	\$9,995.00	\$5,397.30	1	\$5,397.30
	48 port 1G RJ45, plus 8 x 1G SFPP uplinks ports(upgradeable to 10G). 4 x 40G stacking ports.Exhaust air flow. Premium S/W				
RPS15-E	BROCADE SECOND POWER SUPPLY (NON PoE)	\$500.00	\$270.00	1	\$270.00
	BROCADE SECOND POWER SUPPLY (NON PoE)- 250W				
ICX6610-FAN-E	EXHAUST DIRECTION FAN FOR THE ICX6610	\$250.00	\$135.00	1	\$135.00
ICX6610-10G-	License to upgrade 4 ports of 1G SFPP	\$2,500.00	\$1,350.00	1	\$1,350.00
LIC-POD	LICENSE TO UPGRADE 4 PORTS OF 1G SFPP UPLINK TO 10G SPEEDS				
vMotion					
ICX6450-24	ICX6450-24 24-PORT 1G SWTCH, 2X1G SFP+ & 2X10G SFP	\$2,695.00	\$1,455.30	1	\$1,455.30
	24-PORT 1G SWITCH, 2X1G SFP+ & 2X10G SFP+ UPLINK/STACKING PORTS (1G UPGRADEABLE TO 10G)				
Client Switch 1		1			
ICX6450-48P	ICX 6450 W/ 48-PORT 10/100/1G POE+ 740W WITH 10G S	\$5,295.00	\$2,859.30	1	\$2,859.30
	ICX 6450 W/ 48-PORT 10/100/1G POE+ 740W WITH 10G SFP				
10G-SFPP-TWX -0101	DIRECT ATTACH SFPP COPPER, 1M, 1-PACK	\$150.00	\$81.00	1	\$81.00
Client Switch 2				I	
ICX6450-24P	24-PORT 10/100/1G POE+ 370W WITH 10G SFP	\$3,395.00	\$1,833.30	1	\$1,833.30
10G-SFPP-TWX -0101	DIRECT ATTACH SFPP COPPER, 1M, 1-PACK	\$150.00	\$81.00	1	\$81.00
Tiburon A & B					
ICX6450-24	ICX6450-24 24-PORT 1G SWTCH, 2X1G SFP+ & 2X10G SFP	\$2,695.00	\$1,455.30	2	\$2,910.60
	24-PORT 1G SWITCH, 2X1G SFP+ & 2X10G SFP+ UPLINK/STACKING PORTS (1G UPGRADEABLE TO 10G)				
10G-SFPP-TWX -0101	DIRECT ATTACH SFPP COPPER, 1M, 1-PACK	\$150.00	\$81.00	2	\$162.00
	Fire Subtotal				\$24,926.40

Police

ITEM	DESCRIPTION	LIST	PRICE	QTY	TOTAL
Client Switches					



Phone: 888-270-1153 ext. 80

Email: Web:

kgrenier@solidit.com http://www.solidit.com

Kim Grenier

Police

ITEM	DESCRIPTION	LIST	PRICE	QTY	TOTAL
ICX6450-48P	ICX 6450 W/ 48-PORT 10/100/1G POE+ 740W WITH 10G S ICX 6450 W/ 48-PORT 10/100/1G POE+ 740W WITH 10G SFP	\$5,295.00	\$2,859.30	4	\$11,437.20
10G-SFPP-TWX -0101	DIRECT ATTACH SFPP COPPER, 1M, 1-PACK	\$150.00	\$81.00	4	\$324.00
ICX6450-2X10G- LIC-POD	ICX 6450 2X10G CAPACITY BASED LICENSE ICX 6450 2X10G CAPACITY BASED LICENSE, UPGRADE 1G UPLINK/STACKING PORTS TO 10G	\$1,000.00	\$540.00	2	\$1,080.00
Tiburon A & B	,	<u> </u>			
ICX6450-24	ICX6450-24 24-PORT 1G SWTCH, 2X1G SFP+ & 2X10G SFP 24-PORT 1G SWITCH, 2X1G SFP+ & 2X10G SFP+ UPLINK/STACKING PORTS (1G UPGRADEABLE TO 10G)	\$2,695.00	\$1,455.30	2	\$2,910.60
10G-SFPP-TWX -0101	DIRECT ATTACH SFPP COPPER, 1M, 1-PACK	\$150.00	\$81.00	2	\$162.00
	Police Subtotal				\$15.913.80

Conference Theatre

ITEM	DESCRIPTION	LIST	PRICE	QTY	TOTAL
ICX6450-48P	ICX 6450 W/ 48-PORT 10/100/1G POE+ 740W WITH 10G S	\$5,295.00	\$2,859.30	1	\$2,859.30
	ICX 6450 W/ 48-PORT 10/100/1G POE+ 740W WITH 10G SFP				
ICX6450-PREM- LIC	ICX6450 PREMIUM LICENSE	\$800.00	\$432.00	1	\$432.00
ICX6450-24P	24-PORT 10/100/1G POE+ 370W WITH 10G SFP	\$3,395.00	\$1,833.30	1	\$1,833.30
Conference Theatre Subtotal					\$5,124.60

Athletic Club Fire 2

ITEM	DESCRIPTION	LIST	PRICE	QTY	TOTAL
ICX6450-24P	24-PORT 10/100/1G POE+ 370W WITH 10G SFP	\$3,395.00	\$1,833.30	1	\$1,833.30
ICX6450-PREM- LIC	ICX6450 PREMIUM LICENSE	\$800.00	\$432.00	1	\$432.00
ICX6450-24P	24-PORT 10/100/1G POE+ 370W WITH 10G SFP	\$3,395.00	\$1,833.30	2	\$3,666.60
Athletic Club Fire 2 Subtotal					\$5.931.90

Celestial Pump

ITEM	DESCRIPTION	LIST	PRICE	QTY	TOTAL
ICX6450-24P	24-PORT 10/100/1G POE+ 370W WITH 10G SFP	\$3,395.00	\$1,833.30	1	\$1,833.30



Contact: Phone:

888-270-1153 ext. 80

Email: Web:

kgrenier@solidit.com http://www.solidit.com

Kim Grenier

Celestial Pump

ITEM	DESCRIPTION	LIST	PRICE	QTY	TOTAL
ICX6450-PREM- LIC	ICX6450 PREMIUM LICENSE	\$800.00	\$432.00	1	\$432.00
Celestial Pump Subtotal					\$2,265.30

Economic Development

ITEM	DESCRIPTION	LIST	PRICE	QTY	TOTAL
ICX6450-48P	ICX 6450 W/ 48-PORT 10/100/1G POE+ 740W WITH 10G S	\$5,295.00	\$2,859.30	1	\$2,859.30
	ICX 6450 W/ 48-PORT 10/100/1G POE+ 740W WITH 10G SFP				
ICX6450-PREM- LIC	ICX6450 PREMIUM LICENSE	\$800.00	\$432.00	1	\$432.00
,	F				20 004 00

Economic Development Subtotal \$3,291.30

Finance

ITEM	DESCRIPTION		LIST	PRICE	QTY	TOTAL
ICX6450-48P	ICX 6450 W/ 48-PORT 10/100/1G POE ICX 6450 W/ 48-PORT 10/100/1G POE SFP		\$5,295.00	\$2,859.30	1	\$2,859.30
ICX6450-PREM- LIC	ICX6450 PREMIUM LICENSE		\$800.00	\$432.00	1	\$432.00
	F	inance Subtotal				\$3,291.30

Town Hall

ITEM	DESCRIPTION	LIST	PRICE	QTY	TOTAL
ICX6450-48P	ICX 6450 W/ 48-PORT 10/100/1G POE+ 740	W WITH 10G S \$5,295	.00 \$2,859.30	1	\$2,859.30
	ICX 6450 W/ 48-PORT 10/100/1G POE+ 740' SFP	W WITH 10G			
ICX6450-PREM- LIC	ICX6450 PREMIUM LICENSE	\$800	9432.00	1	\$432.00
	Town I	Hall Subtotal	•	•	\$3,291.30

Surveyor Tank

ITEM	DESCRIPTION	N	LIST	PRICE	QTY	TOTAL
ICX6450-24P	24-PORT 10/100/1G POE+ 370W WI	TH 10G SFP	\$3,395.00	\$1,833.30	1	\$1,833.30
ICX6450-PREM- LIC	ICX6450 PREMIUM LICENSE		\$800.00	\$432.00	1	\$432.00
MITOP- E1/T1/GE		RAD - SFP-Format TDM Pseudowire Gateway, Gigabit RAD - MITOP-E1T1/GE - SFP-Format TDM Pseudowire Gateway, Gigabit		\$909.38	1	\$909.38
		Surveyor Tank Subtotal				\$3,174.68



888-270-1153 ext. 80

Kim Grenier

Phone: Email: Web:

kgrenier@solidit.com

http://www.solidit.com

Spare

ITEM	DESCRIPTION	LIST	PRICE	QTY	TOTAL
ICX6450-48P	ICX 6450 W/ 48-PORT 10/100/1G POE+ 740W WITH 10G S ICX 6450 W/ 48-PORT 10/100/1G POE+ 740W WITH 10G SFP	\$5,295.00	\$2,859.30	1	\$2,859.30
ICX6450-PREM- LIC	ICX6450 PREMIUM LICENSE	\$800.00	\$432.00	1	\$432.00
	Spare Subtotal				\$3,291.30

SFP Module

ITEM	DESCRIPTION	LIST	PRICE	QTY	TOTAL
E1MG-SX-OM	1000Base-SX SFP optic, MMF, LC conn	\$525.00	\$283.50	5	\$1,417.50
	1000Base-SX SFP optic, MMF, LC connector, Optical Monitoring Capable				
E1MG-SX-OM-8	1000Base-SX SFP optic 8 Pack, MMF, LC conn	\$3,780.00	\$2,041.20	3	\$6,123.60
	1000Base-SX SFP optic 8 Pack, MMF, LC connector, Optical Monitoring Capable				
	SFP Module Subtotal				\$7,541.10

IronView/BNA

ITEM	DESCRIPTION	N	LIST	PRICE	QTY	TOTAL
BR-NTWADV-	IP MGMT SWKIT FOR INM TO 150 IF	DEVICES	\$0.00	\$0.00	1	\$0.00
INM-UPG	IP management SW license for 150 de (SW-NTWADV-IP-BASE, SW-NTWAD IronView Network Manager (INM) licer supp is required.	VIP-100); qualifying				
•		IronView/BNA Subtotal				\$0.00

Support

ITEM	DESCRIPTION	LIST	PRICE	QTY	TOTAL
ICX6610-SVL-	ESSENTIAL REMOTE SUPPORT, ICX 6610 24P & 48P	\$1,902.00	\$1,241.06	1	\$1,241.06
RMT-5	ESSENTIAL REMOTE SUPPORT - Duration 5 Year				
ICX6450-SVL-	ESSENTIAL REMOTE SUPPORT, ICX 6450 24P & 48P	\$665.00	\$433.91	1	\$433.91
RMT-5	ESSENTIAL REMOTE SUPPORT - Duration 5 Year				
ICX6610-SVL-	ESSENTIAL REMOTE SUPPORT, ICX 6610 24P & 48P	\$1,902.00	\$1,241.06	1	\$1,241.06
RMT-5	ESSENTIAL REMOTE SUPPORT- Duration 5yr				
ICX6450-SVL-	ESSENTIAL REMOTE SUPPORT, ICX 6450 24P & 48P	\$665.00	\$433.91	1	\$433.91
RMT-5	ESSENTIAL REMOTE SUPPORT - Duration 5 Year				
ICX6450-SVL-	ESSENTIAL REMOTE SUPPORT, ICX 6450 24P & 48P	\$665.00	\$433.91	3	\$1,301.73
RMT-5	ESSENTIAL REMOTE SUPPORT - Duration 5 Year				
ICX6610-SVL-	ESSENTIAL REMOTE SUPPORT, ICX 6610 24P & 48P	\$1,902.00	\$1,241.06	1	\$1,241.06
RMT-5	ESSENTIAL REMOTE SUPPORT - Duration 5yr				
ICX6450-SVL-	ESSENTIAL REMOTE SUPPORT, ICX 6450 24P & 48P	\$665.00	\$433.91	1	\$433.91
RMT-5	ESSENTIAL REMOTE SUPPORT - Duration 5 Year				



Contact: Phone:

888-270-1153 ext. 80

Kim Grenier

Email: Web:

kgrenier@solidit.com http://www.solidit.com

Support

ITEM	DESCRIPTION	LIST	PRICE	QTY	TOTAL
ICX6610-SVL-	ESSENTIAL REMOTE SUPPORT, ICX 6610 24P & 48P	\$1,902.00	\$1,241.06	1	\$1,241.06
RMT-5	ESSENTIAL REMOTE SUPPORT - Duration 5yr				
ICX6450-SVL-	ESSENTIAL REMOTE SUPPORT, ICX 6450 24P & 48P	\$665.00	\$433.91	1	\$433.91
RMT-5	ESSENTIAL REMOTE SUPPORT - Duration 5 Year				
ICX6450-SVL-	ESSENTIAL REMOTE SUPPORT, ICX 6450 24P & 48P	\$665.00	\$433.91	1	\$433.91
RMT-5	ESSENTIAL REMOTE SUPPORT - Duration 5 Year				
ICX6450-SVL-	ESSENTIAL REMOTE SUPPORT, ICX 6450 24P & 48P	\$665.00	\$433.91	1	\$433.91
RMT-5	ESSENTIAL REMOTE SUPPORT - Duration 5 Year				
ICX6450-SVL-	ESSENTIAL REMOTE SUPPORT, ICX 6450 24P & 48P	\$665.00	\$433.91	2	\$867.82
RMT-5	ESSENTIAL REMOTE SUPPORT - Duration 5 Year				
ICX6450-SVL-	ESSENTIAL REMOTE SUPPORT, ICX 6450 24P & 48P	\$665.00	\$433.91	4	\$1,735.64
RMT-5	ESSENTIAL REMOTE SUPPORT - Duration 5 Year				
ICX6450-SVL-	ESSENTIAL REMOTE SUPPORT, ICX 6450 24P & 48P	\$665.00	\$433.91	2	\$867.82
RMT-5	ESSENTIAL REMOTE SUPPORT - Duration 5 Year				
ICX6450-SVL-	ESSENTIAL REMOTE SUPPORT, ICX 6450 24P & 48P	\$665.00	\$433.91	1	\$433.91
RMT-5	ESSENTIAL REMOTE SUPPORT - Duration 5 Year				
ICX6450-SVL-	ESSENTIAL REMOTE SUPPORT, ICX 6450 24P & 48P	\$665.00	\$433.91	1	\$433.91
RMT-5	ESSENTIAL REMOTE SUPPORT - Duration 5 Year				
ICX6450-SVL-	ESSENTIAL REMOTE SUPPORT, ICX 6450 24P & 48P	\$665.00	\$433.91	3	\$1,301.73
RMT-5	ESSENTIAL REMOTE SUPPORT - Duration 5 Year				
ICX6450-SVL-	ESSENTIAL REMOTE SUPPORT, ICX 6450 24P & 48P	\$665.00	\$433.91	2	\$867.82
RMT-5	ESSENTIAL REMOTE SUPPORT - Duration 5 Year				
ICX6450-SVL-	ESSENTIAL REMOTE SUPPORT, ICX 6450 24P & 48P	\$665.00	\$433.91	1	\$433.91
RMT-5	ESSENTIAL REMOTE SUPPORT - Duration 5 Year				
ICX6450-SVL-	ESSENTIAL REMOTE SUPPORT, ICX 6450 24P & 48P	\$665.00	\$433.91	1	\$433.91
RMT-5	ESSENTIAL REMOTE SUPPORT - Duration 5 Year				
ICX6450-SVL-	ESSENTIAL REMOTE SUPPORT, ICX 24P & 48P	\$665.00	\$433.91	1	\$433.91
RMT-5	ESSENTIAL REMOTE SUPPORT - Duration 5 Year				
ICX6450-SVL-	ESSENTIAL REMOTE SUPPORT, ICX 24P & 48P	\$665.00	\$433.91	1	\$433.91
RMT-5	ESSENTIAL REMOTE SUPPORT - Duration 5 Year		·		·
BNAINU-SVL-	ESSENTIAL APP SUPPORT 24x7, BR-NTWADV-INM-UPG	\$5,775.00	\$3,768.19	1	\$3,768.19
SW-5	Provides Essential 24X7 telephone and electronic support for software products Duration 5 Year for BR-NTWADV-INM-UPG		,		, ,
ICX6450-SVL-	ESSENTIAL REMOTE SUPPORT, ICX 6450 24P & 48P	\$145.00	\$94.61	6	\$567.66
RMT-1	ESSENTIAL REMOTE SUPPORT - Duration 1 Year		,		• • • • • • • • • • • • • • • • • • • •
ICX6450-SVL-	ESSENTIAL REMOTE SUPPORT, ICX 6450 24P & 48P	\$145.00	\$94.61	8	\$756.88
RMT-1	ESSENTIAL REMOTE SUPPORT - Duration 1 Year		75	-	Ţ. 22. 00
ICX6450-SVL-	ESSENTIAL REMOTE SUPPORT, ICX 6450 24P & 48P	\$145.00	\$94.61	12	\$1,135.32
RMT-1	ESSENTIAL REMOTE SUPPORT - Duration 1 Year	,	70 1.01	· -	Ţ 1,100.0 <u>2</u>
ICX6610-SVL-	ESSENTIAL REMOTE SUPPORT, ICX 6610 24P & 48P	\$415.00	\$270.79	2	\$541.58
RMT-1	ESSENTIAL REMOTE SUPPORT - Duration 1 Year	Ţ 3.00	Ψ=. σ., σ	-	Ψ511.00



Contact: Phone:

888-270-1153 ext. 80

Kim Grenier

Email: Web:

kgrenier@solidit.com http://www.solidit.com

Support

ITEM	DESCRIPTION	LIST	PRICE	QTY	TOTAL
ICX6610-SVL-	ESSENTIAL REMOTE SUPPORT, ICX 6610 24P & 48P	\$415.00	\$270.79	2	\$541.58
RMT-1	ESSENTAIL REMOTE SUPPORT - Duration 1 Year				
BNAINU-SVL-	ESSENTIAL APP SUPPORT 24x7, BR-NTWADV-INM-UPG	\$1,260.00	\$822.15	1	\$822.15
SW-1	Provides Essential 24X7 telephone and electronic support for software products Duration 1 Year for BR-NTWADV-INM-UPG				
	Cupport Cubtotal			i e	¢25 247 00

Support Subtotal \$25,247.08

RAD Care

ITEM	DESCRIPTION	LIST	PRICE	QTY	TOTAL
RAD-CARE-	RAD CARE SERVICES	\$850.00	\$700.00	1	\$700.00
SL13Y	RAD CARE SERVICES				
	RAD Care Subtotal				\$700.00

Quote Totals

Signature

SECTION		TOTAL
Service Center		\$29,200.08
Fire		\$24,926.40
Police		\$15,913.80
Conference Theatre		\$5,124.60
Athletic Club Fire 2		\$5,931.90
Celestial Pump		\$2,265.30
Economic Development		\$3,291.30
Finance		\$3,291.30
Town Hall		\$3,291.30
Surveyor Tank		\$3,174.68
Spare		\$3,291.30
SFP Module		\$7,541.10
IronView/BNA		\$0.00
Support		\$25,247.08
RAD Care		\$700.00
Additional Taxes or shipping charges may apply. Payments by credit card will be subject to an additional 4% processing fee. Manufacturer and Distribution warranty, cancellation, and return policies will apply.	Total	\$133,190.14

0/	o
0/	0

Date